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2-5 Modelling Linear Equations from Word Problems AlgebralCC

[ usmg migebra to solve word problems }
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i Use “LET STATEMENTS” | ! Translate into an equation : i Show exactly whatthe !
i  todefine your variable. usmg your let statements. Thensolve : : Pproblem is asking for.
[ME Find “the number” -
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. The larger of two numbers is four more than|the smcller number. If theysum of the
{4 number |s 72 find the numbers.
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<[ 2. The larger of two numbers is snxgless ‘rhar\ﬁwuce the §moller number. If the um of the
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of these numbers is 61, find the numbers.
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3. The larger of two numbers is sevenlless than three times the smaller number. If ’rhewmj~{ :
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4. The length of arectangle l@nches more than/its width, If 1h{penme’re‘]of the

rectangle js 24 inches, find its dimensions. ada au Sides ’
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5. The length of a rectangle i@inches more than]four fimesjits Width. If the| perimeter|of

the rectangle is 90 inches, find its dimensions.
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6. The length of a rec’rongle is hre centimetergiess than
of the rectangle s’ T 18 centimeters, find its dimensions.
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7. Kirk has $12[less ’rhonlJlm If Jim spends half of his money, and Kirk spends none, then Kirk will have
$2 more ’rh%n Jim. How much money did they both start with?
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